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HA AC120/4)

810m x 720 m 1ISO

A A @ pa)
e 477 ttem  119m  162m  204m  247m  200m 333m 375m 405m 452m 500m e
m i t t t t t t t t t t m

8 80.0* 74.9* Yo.5* 70.6* 58.0 ] - -

4 gog* 697 694 . BUG  B4E 481 - - - - -

5 60.7 53.4 53.9 53.6 51.2 44,5 34.8 - - - -
N 535 463 469 468 472 405 320

7

8

9

3

4

L

- o EOAT_Bas 6
44.8 40.8 41.3 41.9 41.8 36.7 29.6 25.0 - * - 7
384 36.3 36.8 37.5 373 840 276 235 200 . - c 8
- - 33.6 33.8 33.6 31.4 26.0 22.0 19.0 16.2 - 9
R =TE i o= 3056 307 30.5 28.8 24.6 20.5 18.0 15,6 12.0 10
12 - - 23.3 23.5 23.3 227 21.8 18.3 16.1 14.3 11.9 12
14 5 : = 186 184 182 184 161 146 13.0 111 14
16 - - - 15.3 16.0 155 15.0 14.4 13.0 12.0 10.4 16
A o o R AR 150 13.0 12.5 12.7 11.7 109 9.6 18
20 5 i = 3 11.4 11.1 11.0 10.8 10.6 9.9 8.8 20
22 : : S Bl Sl RS T S 9.0 1 L
24 - - - = 8.7 8,5 8.4 8.0 7.8 7.5 24
26 - - - - E &3 26 74 @ 7.0 71 6.9 26

- 6.7 6.5 6.2 6.3 6.0 28
AL el TR e : - - - 6.1 5.8 5.8 ST el 30

: 2 E 5.2 5.3 4.9 4.6 32
34 - = 5 : 3 - - 4.4 47 48 4.1 34

36 : : . - - - - - 4.2 3.8 3.6 36
R - e = e = = R S : = 3.4 34
40 - - - - - - - - - 3.0

*HJAMETHET F2 %R (BALHR)

= TEREX.




HA AC120/4)

W% A
| e Y T 11.9m 16.2m 20.4m 24.7m 29.0m 33.3m 37.5m 40.5m 45.2m 50.0m : |

m U t T t T SRR R t t 1 ; t ' i m
3 74.0* 72.5* 70.6* 58.4 - - - - - - 3
4 62.1 62.6 60.9 Bo. 1T 481 Z . 5 « - 4
5 52.9 53.4 53.3 512 44.5 34.8 - - - - ]
6 45,9 46.4 46.3 46.8 40.5 32.0 - - . - 6
7 40.3 40.9 41.5 41.3 36.7 29.6 25.0 : 5 = 7
8 35.9 36.6 371 36.9 34,0 276 235 20.1 - - B8
9 - 32.9 33.1 32.9 30.9 26.0 22.0 19.0 16.2 - 9

10 - 27.6 27.9 279.7 27.1 24.6 205 18.0 15.6 12.0 i0
12 - 20.7 20.9 20.7 20.4 20.7 18.3 16.1 14.3 11.9 12
14 _' = = 16.5 16.4 168 182 = 168 146 430 = d4id 14
16 RN - 39 180 187 186 134 foy 120  q04 16
18 - - 8.8 11.7 11.5 11.6 111 11.1 10.8 9.6 18
20 - - : 100 101 98 87 94  9i 88 20
22 - - " B.7 B.7 8.5 8.3 8.0 8.1 7.8 22
26 - - m E 6.3 6.6 6.4 6.4 6.1 5.8 26
28 - ! : . : 5.8 5.6 5.7 5.3 5.0 28
30 - - B c . 5.9 4.9 5.0 4.6 4.4 30
32 e - - Eag : 44 44 A0 9B 39
34 - - - - - - 3.6 3.9 3.5 3.3 34
36 - ot : : 86 A4 28 36
38 G E iz 3 = - - 2.7 2.7 2.4 38
40 - - . = : - - - 2.4 2.1 40
42 " - = » . - - - - 1.8 42

8.10m x 7.20 360° ISO

/ﬂ Zﬂn.gm 16.2m  204m  247m  290m  333m 37.5m  405m  452m  50.0m AZE

. T o : gl — S e . :

m m
3 789 725" 708 G684 k2 - : L 2 2 3
4 61.9 62.4 60.9 55.1 481 : : - - - 4
5 52.7 53.2 53.1 51.2 445 34.8 - : : . 5
6 45.7 46.2 46.2 46.7 40.5 32.0 . - - . 6
7 40.2 40.8 41.4 412 367 296 95.0 - - - 7
8 35.8 36.6 37.0 36.8 34.0 27.6 235 20.1 - - 8
9 : 31,7 32.1 31.8 29.8 26.0 22,0 19.0 16.2 i 9
10 - 26.6 27.0 26.7 26.1 24.6 205 18.0 15.6 12.0 10
O - 190 U2 918G 204 198 o JBB 16l 148 . 118 13
14 : - 16.9 16.1 16.2 16.6 15.8 14.6 13.0 11.1 14
16 > = : 13.4 13.4 13.2 98 v 380 ¥aE . S0 S0 o el
18 : : 8.8 11.2 11.3 11.1 11.0 10.6 10.4 9.6 18
20 : el 9.6 9.7 9.4 9.3 9.0 9.0 8.8 20
22 - - - 8.4 8.3 8.2 8.0 7.9 7.7 7.5 22
24 - - - - 7.3 7.2 6.9 7.0 6.7 6.4 24
26 - - 6.3 6.3 6.1 6.1 5.8 5.5 26
28 s . 5.5 5.3 5.4 5.0 4.7 28
30 - . : 4.9 4.7 4.7 4.3 4.1 30
32 = : g 4.1 4.2 3.8 3.5 32
34 - - : 3.3 3.7 3.3 3.0 34
36 : : : 83 98 26 36
a8 : - - 2.4 25 2.2 38
40 g : 3 ) = - 2.2 1.9 40
42 : . ; - 1.6 42
44 - . < - - . - 1.3 44
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HA AC120/4)

B8.10m x 7Z220m

R |
\5é@ '(ffll?mm.1§2m Sdm _2dim _ 2E0% o _diem sk _dasn _atom ”ﬁg:

m t t t £ t t t t t t

m

73.7* _725F 708" 58.4 =i . B E E z = 3

4 61.3 61.8 60.9 55.1 48.1 - - . - - 4
5 52.2 52.7 52.6 51.2 445 34.8 5 : : : 5
6 45.3 45.8 46.0 46.2 40.5 32,0 - . : - 6
J: 39.8 40.3 41.0 394 861 206  25.0 : : = 7
8 32.7 34.3 34.7 33.1 30.5 27.6 235 20.1 = - 8
9 . 28.0 28.3 28.0 26.2 25.7 22,0 19.0 16.2 - 9
10 . 23.4 23.7 235 229 22.5 20,5 18.0 15.6 12.0 10
12 i 174 1729 18.2 180 o lrd - b 160 14.3 11.9 12
14 : . 14.3 14.4 14.1 14.3 13.8 13.7 13.0 11.1 14
16 e 11.6 11.7 18« _ 116 11.4 A e N (0 10.4 16
18 - - 8.8 9.9 9.8 9.7 9.5 9.6 9.2 9.0 18
20 g - - 8.4 8.3 8.2 8.0 8.1 %7 7.5 20
22 : 2 : 7.2 7.2 7.0 6.8 6.9 6.5 6.3 22
24 site B T - e 63 6.1 5.9 5.9 5.6 5.3 24
26 = = - : 5.5 5.3 5.1 5.1 4.8 4.5 26
28 : s : : - 46 4.4 4.4 4.1 3.8 28
30 : - : : : 4.0 3.8 3.9 35 3.2 30
382 S e N R e 3.3 3.4 3.0 27 32
34 : : : E - - 2.6 2.9 2.5 23 34
36 L B ar . = - = 95 31 19 86
38 : . : - - : : 1.8 1.8 1.5 38
40 = 2 : - : : : - 1.5 1.2 40
42 - . . - . : - - . 1.0 42
44 . = ; ol . - : . 0.7 44

; ‘
‘ At %11.9_m 16.2m 20.4m 24.7m 29.0m 333m 37.5m 40.5m 45.2m 50.0m xﬁl

m t 1 t t t t t o T T t m
3 78.1* 72.5*  70.6* 584 bk, ; : _ I 3
4 60.6 61.1 60.9 55.1 48.1 - - - - - 4
5 51.6 52.1 521 51.2 44.5 34.8 : : Z S 5
6 44.8 45.3 45.6 41.9 38.0 32.0 - - - - 6
2 362 38.1 36.7 34.1 31.2 296 25.0 - £ sl o}
8 28.0 29,7 30.0 28.6 26.9 25,5 23.4 20.1 - - 8
9 - 24.1 24.4 24.1 23.9 22.1 20.7 19.0 16.2 - 9
10 - 20.1 20.4 R ] 20.8 19.5 18.7 17.1 15.6 12.0 10
12 2 14.8 156 157 158 15.6 163 142 13.4 19 12
14 - - 12,2 12,4 12.4 12.1 12.0 11.8 1.4 10.6 14
A - = NG 98 100 10.0 9.9 9.7 9.7 94 = 88 16
18 - - 8.3 8.3 8.4 8.2 7.9 8.0 7.6 7.3 18
20 - - - 7.0 Al 6.9 6.6 6.7 6.3 6.0 20
29 - - - 6.0 6.0 5.8 5.6 5.7 5.3 5.0 22
24 = 2 i 2 5.2 5.0 4.7 4.8 4.4 4.1 24
26 - - - - 4.5 4.2 4.0 41 3.7 3.4 26
28 B - - - - 3.6 3.4 3.4 3.0 2.8 28
30 - - - - - 3.1 2.8 2.9 25 2.2 30
32 - - - - - - 24 925 2.1 1.8 32
34 - - - - - P 1.7 2.1 1.7 1.4 34
36 £ : : : : : - 1.7 1.3 11 36
38 = - - - 1.0 1.0 0.8 38
40 - E g f e 2 : ~ 08 e et P40

= TEREX.
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AC120/4)

1 B810m x 720m

: 16.2m 20.4m 24.7m 29.0m 33.3m 37.5m
m t 1 t t t t t t t t m
3 72.6° 72.5* 70.67 58.4 i i E - = " 3
4 60.2 60.7 60.7 55.1 48.1 - - - - 4
5 51.3 51.8 i 48.7 434 2 348 j - - ]
6 43.2 43.3 41.2 37.9 34.2 31.7 » - - 6
7 32.3 34.2 33.2 30.8 28.8 27.1 24.6 - - ke 7
8 24.9 26.6 26.9 25.7 25.0 22.9 21.9 20.1 " = 8
9 2 21.5 21.9 22.5 21.5 20.5 s SR fr 16.2 ¥ 9
10 - 17.9 18.7 18.9 18.6 18.1 172 15.9 149 120 10
12 - 13.1 13.9 14.1 14.1 13.8 135 13.2 12.2 11.4 12
14 - - 10.9 11.0 11.1 10.9 10.6 10.7 9.9 9.2 14
16 - 8.8 @9 &%  ®&r, @& @6 . &1 7.4 16
18 - 7.2 7.3 7.4 7.1 6.9 7.0 6.6 6.0 18
20 = = T 6.1 6.1 5.9 5.7 2 R S
292 = 5.1 5.1 4.9 4.7 4.8 4.3 3.9 22
24 - - - 48 . @41 gw - a3 g5 - .= g5
26 - - 3.7 3.4 3.2 3.3 2.9 2.6 26
28 - - - - 2.9 2.6 gy, 9§ 0§ 95
30 - - - - 2.4 2.2 2.2 1.8 1.6 30
32 - - = ST ool 1.8 1.8 R, ]
34 = - - . 1.1 1.5 il 0.8 34
36 - “lie - - - - 1.2 0.8 - 36

L »§§E1L9m 16.2m  204m  247m

CoNoosw3

t
72.5*
60.5
51.6
42,1
324

e 1

20.3
16.9
123

t
70.6*
60.5
50.3
39.2
31.5

~ S

21.2
777
13.1
10.3
8.2
6.7

t

58.4
b5.1
46.3
36.0
29.2
24.9
21.4
17.9
133
10.4
8.3
6.8
5.6
4.7

29.0m
o
48.1
41,2
32.4

33.3m
t

8.10m x 720 m

37.5m

40.5m 45.2m 50.0m

t ; AT Ui m
- - 4
= ; 6
i B B - 7
18.9 - 8
17.1 16.0 - 9
14.9 14.6 12.0 10
g5 e s 12
10.0 9.1 8.4 14
80 74 68 16
6.5 6.0 5.4 18
5.3 4.8 4.3 20
4.3 3.9 3.4 22
35 3.1 97 o4
2.9 2.5 2.2 26
2.4 2.0 1.7 28
1.9 1.5 1.3 30
1.5 3:d 0.9 32
1.2 0.8 - 34
L . DO 36
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HA AC120/4)
ALY I =L

- 4'7 =1 810m x 7220m
4@ f 11.9m 16.2m 20.4m 24.7m 29.0m 333m  3756m  405m  452m 50.0m ﬁ
m t t t t t t t t t t m
- N ¢ L 5 70.6*  58.4 = % : =L = 3 3
4 59.9 60.4 60.4 55.1 48.1 - - - - " 4
5 51.0 51.5 50.0 45.1 40.2 34.8 E S g : 5
6 41.1 41.0 38.2 35.1 31.9 30.3 - - - - 5]
£ 29.6 31.5 30.7 284 274 250 23.2 o = v 3
8 22.8 24.4 24.8 24.4 23.1 21.8 20.3 18.6 - - 8
8 = 19.7 20.7 20.8 19.8 19.1 18.0 16.6 15.5 T 9
10 - 16.4 17.2 17.4 17.5 16.6 15.7 14.9 14.1 12.0 10
12 o= AR 12.7 129 1289 128 12.3 A% ST 102 o 12
14 - - 9.9 10.0 10.1 9.9 9.6 9.7 8.8 8.1 14
e T O o SEETare  _HO 8.1 Pl e -/ e (S > S | -
18 - - 6.4 6.5 6.6 6.4 6.1 6.2 5.7 5.1 18
20 - Y - 5.4 5.4 5.2 4.9 5.0 4.6 4.0 20
22 - - - 4.5 4.5 4.3 4.0 4.1 3.7 3.0 22
24 a - - - - 3.8 3.5 3.3 23 99 285 24
26 - - 31 2.9 2.6 2.7 2.3 2.0 26
28 - - 2.4 2.1 2.9 1.8 1.6 28
30 - - - - - 2.0 1.7 1.8 1.4 a1 30
32 BN e =3 = 5 1.3 TRHIE b e e V1 © S 0.7 .82
34 - - - 0.7 1.1 . = 34
(GBI = i i = t S = Ui e (S ) s 36

= TEREX.
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Ha AC120/4)
ALY I—L
7 b FishREERE

1T 8.10m x 6.00m 360°

’ﬁ é "119m  162m  204m  247m  200m  333m  37.5m  405m  452m  500m /A

= T - - - e e - e : " =

3 e 7187 70.6* 58.4 = = n i, 3

4 59.6 60.1 60.0 55.1 48.1 - - - - - 4

5 51.0 51.5 51.4 51.2 445 34.8 - - - - 5

6 44.3 44.8 45.4 45.2 40.5 320 3 - - - 6

7 38.8 39.4 40.0 39.8 36.7 296 25.0 18.2 = : —

8 33.6 35.1 35.4 35.1 33.6 27.6 235 20.1 - - 8

9 - 28.7 29.0 28.7 28.2 26.0 22.0 19.0 16.2 - 9
10 - 241 24.4 24.92 23.6 24.2 20.5 18.0 15.6 12.0 10
12 & 18.1 18.3 185 186 181 178 161 1483 11.9 12
14 - - 14.8 149 14.7 14.8 14.4 13.8 13.0 i = | 14
16 o = 122 = 1228 12.3 12.1 12.0 11.7 114 104 16
18 - - 8.8 10.2 10.3 10.1 10.0 9.7 9.8 9.5 18
20 - - - 8.8 8.8 8.7 8.5 8.6 83 8.0 20
22 - - - i 7.6 7.6 7.3 7.4 i | 6.9 22
24 — e 2 T 6.7 6.6 6.4 6.4 6.1 B
26 - - - - 5.9 5.8 5.6 5.6 5.3 5.1 26
928 - - - - - 5.1 4.9 5.0 4.7 45 28
30 - - - - - 4.5 4.3 4.4 4.1 3.9 30
182 2 x = £ ) 3.9 3.9 3.6 34 32
34 - - - - - - 32 3.5 3.2 3.0 34
36 = - - - - - 3.1 28 @ 286 36
38 - - - - - - 2.5 2.5 2.3 38
40 - - - - - - - - 2.2 2.0 40
42 - - - - - - - 1.7 42
44 - - - - - - - 20 S 1.4 44

=1 8.10m x 6.00m 360°
ﬁ éﬁ“n.gm 16.2m  20.4m  247m  290m  333m 37.5m  405m  452m  50.0m A@
m t t t t t t t t t t m
3 P07 79,2"  706' GR4 00 - - e e : 3
4 59.2 59.6 59.6 55.1 48.1 - = = 2 F 4
5 50.6 51.1 51.0 51.2 445 34.8 - - - - 5
6 43.7 44,9 448 44.7 405 32.0 g ¢ = . 6
7 1 37.8 39.3 39.5 38.4 34.6 29.6 25.0 18.2 - - 7
8 29.5 31.0 31.3 31.0 29.4 27.6 235 20.1 - - 8
9 - 25,3 25.6 25.3 24.9 24.7 22.0 19.0 16.2 z 9
10 - 21.2 21.5 21.7 218 21.3 19.8 18.0 15.6 12.0 10
12 E 15.8 %9 186 183 185 16.0 168 143 119 12
14 c - 13.0 13.1 13.2 13.0 12.8 12.5 12.2 11.1 14
16 - - 106 108 10.7 10.6 10.4 10.4 102 9.9 16
18 : : - 9.0 9.0 8.9 8.7 8.7 8.4 8.2 18
20 - : - 7.6 i 7.5 7.3 7.4 7.1 6.8 20
29 = = 2 6.6 6.6 6.4 6.2 6.3 6.0 5.8 20
24 = e i - 5.8 5.6 5.4 5.4 61 49 24
26 : - 7 g 5.1 4.9 4.7 4.7 4.4 4.2 26
28 = - = : 2 4.3 4.1 4.1 3.8 36 28
30 E 5 i - = a8 36 36 33 3.1 30
32 5 6 . E o= I 3.2 8P - T 139 ¥ 32
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